Quiz Review 7.1 - 7.2.notebook February 26, 2018

Quiz7.1-7.2

Find a general solution to a differential equation.
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Solve an initial value problem.
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Construct a slope field for a differential equation. Then sketch a graph
through a specific point.
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Evaluate an indefinite integral (no substitution necessary)
7.2 #1-5
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Use U substitution to find an indefinite integral.
7.2 #25-46
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Evaluate an indefinite integral using a trig identity.
7.2 #29,#47
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Evaluate definite integrals using U substitution.
7.2 # 53-60 é )
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